14 FAS003 Cross Recessed Flat Head Machine Screw M4X10 4 B
13 AMO005 Hook - PLA 1 M
12 GASKO002 GoPro Housing Gasket 1 B
11 RODO0O01 Mini Rod R1X55 1 B
10 FASO001 Flat Head Cap Screw M3X6 2 B
9 FAS002 Flat Head Cap Screw M3X8 2 B
8 AMO0O01 Main case - PLA 1 M
7 AMO003 Arm - PLA 1 M
6 FAS005 SFRM Phillips Recessed Metric Pan Head M3X8 12 B
5 GASKO001 V-Ring VA 40 NBR 2 B
4 BGMO0O01 Brushless DC Gimbal Motor 2 B
3 ELOO3 Frame IMU For SimpleBGC 32-bit 1 B
2 FAS004 Self-Tapping Insert/Slotted M4 4 B
1 AMO004 Cover Piece - PLA 1 M
ITEM PART NO. DESCRIPTION QTY | M/B | SHEET
Politecnico di Milano
. | (%% POLITECNICO
cuola del Design V@,‘/’(
CdLM in Design & Engineering % J} MILANO 1863
A.A. 2014/2015
Elaborato di Laurea Magistrale e Mechanical Hardware exploded view SHEET 2.1
Studente PROJECT-
Davide Caprioli (797030) ‘ 2-Axis GoPro Camera Stabilizer SCALE 1:1

Docente relatore
Riccardo Gatti

18/12/2015

O




	Foglio 1
	Viste
	new_view_1



